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Q1 Which of the followings can be most suitable word in blank (A)?

D merit @ variety @ custom @ norm

Q2. Which of the following can be most suitable to explain “intricate”?

(D having all parts or elements; lacking nothing
@ having many interrelated parts or facets; entangled or involved
@ constituting an actual thing or instance; real

@ not elaborate or artificial; plain

Q3-1. Which of the following can be most suitable to explain “current”?
D passing in time
@ publicly reported or known
(@ move of sea water created by the friction between wind and surface water

@ a large portion of air, large body of water, etc., moving in a certain direction %

Q3-2. The Kuroshio current is a north-flowing ocean current along the west coast of Japan.

Which one is Kuroshio current in the map on the right side?

@® A
@ B
@ C
@D

Q4 What is plankton? Choose most suitable explanation from below.

D the aggregate of passively floating, drifting, or somewhat motile organisms occurring in a body of water.
@ any organism too small to be viewed by the unaided eye, as bacteria, protozoa, and some fungi and algae

@ any of numerous groups of chlorophyll-containing, mainly aquatic eukaryotic organisms
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Q1. Explain the underlined sentence (A). Be sure to refer specifically to “these”.

Q2. Which of the following can be most suitable word in the blank (B) ?
@O Asaresultof @ Since @ Because @ Despite

Q3. Which of the following can be most suitable word in the blank (C) ?

@O sugarcanes @ imported sugar (@ sugarbeets @ sugar palms

Q4. Explain the underlined sentence (D).

Q5. Which of the following can be most suitable sentence in the blank (E) ?
@D to analyze the effect of the tariff of imported sugar and sugar beet plant survival.
@ to identify determinants that influence sugar beet plant survival.

@ to clarify demand of the consumers of sugar beet for sugar beet plant survival.

@ to consider the support policy towards export of sugar beet.
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Choose one question from the following five questions. After writing the number you chose, answer the question.
1. (BAFERRIET) FRMEICRIT D ko fa] OFERAFICOVWTHMN L, ZOERICOWVTHHE X,
(Development Economics) Describe the main content of the "Green Revolution" in paddy rice production, and discuss its
significance.
- (RRFHIBRT) T8O ORRBEOIEIZ X 5 REN A | AT ER R 2 7T 7 IR L7220 BB &
(Economic Geography)  Explain agricultural location depending on the distance from the market, drawing bid rent curbs
on a graph.
C(BRE~—FT 40 7)) BEEFEEIC TAIDMA E7 /1) ([ZOWTHRB L2 S,
(Food Marketing) Describe AIDMA model with an example of food.
. (BB BARIZBIT 2% ORAIEOLEE & FEIZ OV TR X
(Food Economics) Explain the changes and characteristics of diet in Japan after world war 1I.
C(BAR - £BF) BROTEHAMEICOWTHB LR S0,
(Dietary Habits « Food and Nutrition Education) Explain elasticity of demand for food.
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Choose one out of the four questions (Q1-Q4) and answer it. Write the number of your question and your answer

on the answer sheet.

Q1 IR, HEFLREZKTERL, TOEREZHH LRI,

Draw a break-even point, shut-down point and explain the meanings of these points.

Price

0 Quantity

Q2 Mg ) Pyt i) LY TRt 2 VT kT et c SV TBIA L S v,

” «

Using “average cost curves”,“average variable cost curves’and“marginal cost curves”, explain the supply curves in

short-run.

Q3 PANBEARLPEEERDEVIZOWTH L7 S0,

Explain the difference between merchant capital and commercial capital..

Q4 EATERIFICHIT D [ "EHOEWKTHRZRITMH ] ([ZOVWTHH LS,

Explain about “free in the double sense” for laborer in capitalism.
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Choose one question from the following five questions.

After writing the question number you chose, answer the question.

Ql. (RERWET) FMOAPEREZ NV T NHEEROEN) & REREERIZ OV THBI L2 S0,
(Agricultural economics) Using the short-run production function, explain “law of diminishing returns” and agricultural

technological progress.

Q2. (MY AEHAIZ O W THH LSV,

(Agricultural economics) Explain the differential rent.

Q3. (EERET) RHERE BT 2HAMLORIT EEHT 23 LS,

(Farm Management) Explain the recommendation and defect about diversification of the farming.

Q4. (EEEDW) EHEEED B3 HEEMNOPERIC OV T, BEEWZBFNCFT 20N Bt L S,

(Agricultural trade) Explain the theory of comparative advantage by using the example of agricultural commodities.

Q5. (BREEHRY) [FkDFm] NG 2 TIEL ADKEIZOWT, BAMEBOBRE K OGS b F L LoomB LSy,
(Environmental sociology) Explain the positive and negative impact of the Green Revolution while also referring to the local

environment and community in rural areas.
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Choose one question from the following three questions.

After writing the question number you chose, answer the question.

Q1. (RETREHT) BREIBLOMN & KA OV THI LS,

(Environmental Economics) Answer about an advantage and a fault of the environmental tax.

Q2. (BkthE%) BEAHIcBIT 5 Y — %L« F v EZLORS S RS IOV T L2 SV,

(Rural Sociology) Explain the features and problems of social capital in rural areas.

Q3 (REWH) BNAMICHIT 2 AARDEEBIRIZOW TR LR S0,
(Agricultural History) Explain the Japanese agricultural policy of the Meiji era.
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